24. The initial volume is (5)(7)(3) = 105 cm®. The new
length, width, and heightare / = 5 + 2t,w = 7 + 24,

and h = 3 + 2¢,s0 the new volume is V =

(5 + 2t)(7 + 2t)(3 + 2t). Solve graphically
(5 + 26)(7 + 21)(3 + 2t) = 525 (5 times the
original volume): t = 1.62 sec.

25.

W

3(1) +4(1) =3+4=7#5

34) +4(—2)=12—8=4#5
33) +4(-1)=9—-4=5
The answer is (3, —1).

26.

(=)

(52 + (1)2=25+1=2625

(3% + (4*=9+16=25
(0)2 4 (=5)2 =0 + 25 = 25
The answer is (3,4) and (0, —5).

27. 2 =25 —x%,y= V25— x*andy = —V25 — x*
28. " =25—x,y=V25—xandy=—V25 — x

29_y2=x2—25,y=vx2—25andy=— x2_25
30. y? =3x* — 25,y = V3x’ — 25andy = —V3x* = 25

3.x=32)=6,y=22+5=9
R2.x=5-2)—7=-17,y=17—3(-2) =23
B.x=3—-43)=15y=V3+1=2
4.x=|-8+3=5y==—4

35. (a)

t | (x,y)=(2t,3t — 1)
-3 (—6,—10)
—2 (—4,—7)
- (—2,—4)

0 (0,-1)

1 (2,2}

2 (4,5)

3 (6,8)

(b)z=f,y=3(§> —1=15x— L.Thisisa

(o)

36. (a)

2

function.

/

A

[-5. 5] by [-3,3]

t [(x,y) =(@+1,2—2)
-3 (—2,15)
-2 (—1,8)
-1 (0,3)

0 (1,0)

1 (2,-1)

2 (3,0)

3 (4,3)
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=(x—12—=2(x—1)

=x2—2x+1—2x+2
=x>—4x+3

This is a function.

b)r=x—1y

(©

L

[-1, 5] by [-2, 6]

37. @ |t |(x,y)=(At—2)
-3 (9,-5)
-2 (4,—4)
-1 (1,-3)
0 (0,—2)
1 (1,-1)
2 (4,0)
3 (9,1)

(b) t = y +2,x = (y + 2) This is not a function.

(©) [
ﬂ'—’f—'_

e
-H-H—\_‘_‘—\—h

[-1, 51 by [-5, 1]

38. @ |t |(x,y)= (V12 —5)
—3| V=3 not defined
—2| /=2 not defined
—1 V/—1 not defined
0 (0,-5)
1 (1,-3)
2 (WZ,=1)
3 (V3,1)

—

(b) t = x% y = 2x* — 5.This is a function.
L/

[-2,4] by [-6, 4]

39. (a) By the vertical line test, the relation is not a function.

(b) By the horizontal line test, the relation’s inverse is a
function.

40. (a) By the vertical line test, the relation is a function.

(b) By the horizontal line test, the relation’s inverse is not
a function.

41. (a) By the vertical line test, the relation is a function.

(b) By the horizontal line test, the relation’s inverse is a
function.



